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9 � ��� �
��
��
� ��� �� �� � 
����� 
��
 �� �� � � 
 ���� !��


� �� ���
�	
�� �
�
� 
 
�� �� ��� �� ���
� � 1 �� 
���
	�

� 
�� 
��� 
�� �� ��� �
� � ��	� �� ��� � �  � ���
�>�

i a Ii Ri Ci

4 � � � $$$@A>�>$

> @4444�44 BA4&�CD D>4AC�&C >B>DAD�3C

$ @4444�44 3$@A�3A D$3D4�$> >&B3@D�@@

& @4444�44 @@@4�>B DD DDA�B$ AD &4D�3&

D @4444�44 &33$�>A DC$$3�B> DB43C�A$

@ @4444�44 >A$&�4B DB43C�A$ 4�44
∑

$@4444�44 $3D4B�BB $$$@A>�>$

5 � ���
� ��3��� 
�� 	�� �� ��� �� ���
�

1 � � � �� ��"
�� � ��	
 ��

��
�
��� !��� 5E

���� 
��

�� �� �� � 
 � 	
���� �
��
� "
�� ��� � 5E

���1 � �
�
�

���� �� �� 	 ��

��
�� 
�� ���
�� ����� � � �� ��"
�� � ��	


	
��� �
�
�5E

��� �� �
��	� 	
 �
 �
 � ��	� �� �
 � ���

	
� >�

� 
� ��� ��
� "
�� ��
 � ��	� �� �
 � �

����F >4 �� � ���


�>��

��
�� 
� ���� �� �� �
� �� �
 
�
� 
��
 � ��� 
�

Ci�1 � � ���
� ��� �
��� 
 � 
� ���� �� �� � �

� �� ��� ��� 
�

/� ��	� $�0�

7� 	�
�� 
�
� � ��� �
�� �
 � 
	� �� �
 	� 	
 � 
 � 
��


� 
�
�� ���� �� � 	
��� 
 
��� !��
 �� � � �
� � ��	
 �

� ��� �
�
� � �
��� � � 5E

�	
��� 
 
��� !��
 	� 


�� � �� ���� � ����� ��� ��"
�� � ��	
�

���� ��� ���
��� ��� ������ 
���

�� � 
� ���� � � ����� ��

=
���	� ��� 	
�
�� 
��� �� � �� ���� � � ����� �� � ��	� �� ��

�
 	�
� � ��� �
� "��	
��
 � 
���
 �� 
��� ����
�

������� �� � 
	
�
� � 	�� � 
 � �
�� 
��� � ��

��
�

� �
����� 
	
�
� � 	�� �� 	
�� �� 
��� �� �� � "��	
��� �

� � � 
���
 �� 
��� ����
� F ��	
��� � 
��� ����
 q =

��� ��	
"� 0,	���� �#�0���
� �
� #)���



f (p) �
	
� � �
���
�� ���� ��� �� �� ��� �
� � 	
���
��


q �
	
� ��� ��
�
� � �
���
�� 
 
��
��p �
� � �
���
�

�� �F ��	
��� � 
��� ����
 �
 � � �� ���
� "��	
��� �
� � 


� 
�� � �
� 
��
�
 � �
���
�� � � � ����
 ��
�
�� � 
��

�� ����� �

F ��	
��� � 
���
 q1 = f 1(p) �
	
� � �
���
�� ���

�� ��� �� �� ��� �
� �	
���
��
 q1 � 
��!
�
� � �
���
��


 
��
��p �
� � �
���
�� �G����
��� � 
 � 
�� � �
� 
��

�
�
 � �
���
�� � 
�
�
� �� � 
���� �"��	
��� � 
���


�
 �� � ���
� "��	
��� �

 ������ �� 
��
�� � �
���
�� 
��
!��
 �
��� 	
� �� 
���

�
 �� 
��� ����
�

�������� %���
��� �

������� ���
	 ��
���
�� ����

�� � q = f (p) = −2p + 80 � &���
��� �
���� 

	

��

	 ��
���
�� � q1 = f 1(p) = p + 20�

�' (�
�
��
� ������ &���
����

�' �����
����
� 
�������� 
����� ��������� � �������

� 0 1 � �
�
��� ��� �
� � 
��
 � 
 ���
�� ������ ;�
	�����
��� �

��
� ��� "� "��	
��� q = f (p) �q1 = f 1(p)� 
�
	�

A(20, 40) � ��	� �� �� �� � ��
�& � �
� �
	 �
 
��� ��� ��

� �� �� 
� �

2���� '�E �� F�
��� ���� � 	����	���� 	���� �� 	��� ���
�

	 �	���
���� �	���	�� �� ������� ��

�0 :� ��� ��� �
� � 
��
 � 
 ���
�� ������ �
��� 	��� �� �
��

	� 	
 � 
 �
 �
���
� �
�
 �� ��� � ����
��� � �
�� 
���

� � � �
����� 
	
�
� � 	�� �� 	
�� �  ������ �� 
��
�� � 


� 
��
 ���� �
��� ���� �
��� 	
� ��� 
���
 �� 
��� ����
����

−2p + 80 = p + 20� :��� �
��� �� ��
� � 
 �
����

p = 20�7� 	�
�������� �� 
��
�� �
 20 	��

1 � �
�
��� ��� �
� � 
	� ���
 	� 	
 � 
 ��� ��
 � �
�

�


� � � �
� � ��
�/
��� ��
 ��� "� ���
� ��
 "��	
��
0 � 
��


� ��� ��
����� � ����
��� 
	
�
� � 	�� � �
�� 
��� � �

�� �����
� �

� 
�
� �� �� �
 � ��	� �� �
 	� 	
 � 
 � 
�� � 
�
�

���� ���� � �� ���� � ����� ���� � � �
� � ��	
 �� ��

��	


� �
����� 
	
�
� � 	�� �� 	
�� � 
 � ���
�� � �
���	� ��


��
���
��� ��
 	
�
�� 
��
� =� ���
� � 
�� 	�
� � ����


�� � � 
��
� �� ��� �� � �� ���� � � ����� �� 
� �
��	
 �


�� ���
� ��� 1 ��� 
 � 
 � ��
�

 
�
�
�����
 ��� ��
� �� ����

�� �
��	� �� 	����
��� ��� �� 	
�� �
��
���

��
�� ��
�
�


��
�� �� ���

 �� ��
 � � 
� 
��
� ���

1 /5 ?- �5 � - �

�02�5	����
%E ��� �
&������������� �����	�����&3�	�
����

�� �	�� �� �	�� ��! ��
������
� �� &4 � � ��
� #))��

#0:�3� 
�� �	���
& ������
	�� ������� 	�������	
�� �����

���	
�� ��������� 	 
��	�� � �� �������& www.os-

zakanje.skole.hr&� ������	 #�� �� �
� #)�)�

'0G ��2�� ��	���
&  �

��� 
�����
	�� � ������	 
����	


��

��������
� � �������� 
�
��	 � ������	� ������
�� ��

������������� 
�����
	��&4 ��	��
�������	�&:	���'&

+ 	�'&� � �'#*A'"#&#))��

$09��
� �� G � ��	���
&/�� �6��	�
��
&�������	
� !&���������

� � �����	� �� �� �� �� �� ���� ���� ��	�	� � ��! �� �	�� &

+ �	���� ��� &�� ,��� #))��

"0� ��(�
� 2� �� � 	�&9	�� �	 �2�,	&�������	
� "&���������

� � �����	� �� �� �� �� �� ����
��� ���� ��	�	� � �� �� �	��&

���� �
��� �&�� ,��� #))��

���


